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. The Behavioral Risk Factor Surveillance System is an ongoing health survey system that tracks health conditions
and risk behaviors in the United States. In one of their studies, a random sample of 8,866 adults answered the
question “Do you consume five or more servings of fruits and vegetables per day?” The data are summarized by

response and by age-group in the frequency table below.

Age-Group (years) Yes No Total
’ 18-34 231 741 972
35-54 669 | 2242 | 2911
55 or older 1,291 3,692 4,983
Total 2,191 6,675 8,866

Do the data provide convincing statistical evidence that there is an association between age-group and whether
or not a person consumes five or more servings of fruits and vegetables per day for adults in the United States?
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A real estate agent is interested in developing a madel to estimate the prices of houses in a particular part of a
large city. She takes a random sample of 25 recent sales and, for each house, records the price (in thousands of
dollars), the size of the house (in square feet), and whether or not the house has a swimming pool, This
information, along with regression output for a linear model using size to predict price, is shown below and on

the next page,

Frlce Size Residual
($1,0005) | (square feet) | Pool | ($1,0008)
774 1,799 yes 6
330 1,875 yes 49
307 2,145 yes | 18
BN 376 2,200 yes 42
352 2,300 yes 1
409 2,350 yes 50
375 2,589 yes | 23
498 2,943 yes 42
248 1,600 no 13
263 1,623 no 26
228 1,829 na —45
303 1,875 no 22
303 1,950 no [0
251 1975 no -A6
244 2,000 ng -57
347 2,274 oo !
345 . 2,279 1o ~2
282 2,300 no —6%
189 2,392 70 23
413 2410 no 44
353 2,428 m | -19
415 2,560 no 26
348 2,639 no —58
365 2,701 no —52
474 2,84% no 33
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Linear Fit
Price = -28.144 + 0.165 Size

Surmmary of Fit
RSquare 0,722

Parameler Estimates

Term Estimate Std Error tRatic  Prob>t}

Intercept ~28.144 48,259 —0.58 0.5654

Size 0,165 0.0213 772 <0001
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